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Opdbo A.
A.1. Eoww X Svuopatixdc yogog. xau )X © X xugtd ye 10 0 € K yEWPETEIH) EC0TECIHD
“ou K. AgiZte 67t 1o ouvagtnoioxd Minkowski px ou K v xadd ogiopévo uzoyeaupxs
auvagTnold, xu wavornoet {z € X i pr(z) <1} C K C{zr e X : pr(z) < 1}
A.2. Eoww X yogoc Banach “E€tolog ote 0 X* evan Sraywglopoc. AsiZze dnxam o X
lvar dtywsioyog.
A.3. 'Egtw X yopoc Banach. Acsifte 6t o X vt ameigodidotatoc av xu uévo v
—_—l 5 ' 5 o o
Sx =BxbénouSx={zcX:||lrf=1}xu Bx={re X |z €1}
A.4. Awrtunoote xa amodeite To Veoenua Krein—-Milman.
A.5. AsiZze 6t v xdde 2 < p < 400 0 yogog Ly([0,1]) sivan sumozadhe. (Mrogetze va
yenotporotioee v aviooTra Clarkson.)
Oudda B.

_BT. Foww X ¥0go¢ Banach. xa €0t (z,) axohoudla orov X tézow Hote T, — 0.
Acgigze 67 yia xdde € > 0 undpyet y € conv{zy : n € N} wézowo wote ||y|| < & Tupmegdvere
ot undpyel axohovdia (y,) oo conv{z, : n € N} o doze g, — 0.

B.2. 'Eotw X yogog Banach, o (75) xot (11,) 800 axoloudiec ownv Sxy. Trovétoupe
6Tt 2 oUVOM {Zp 1 1 € N} xan {yn 1 n € N} ebvan ypoupud aveZdotnma, xu 6701 (1) civa
16odhvaun e < standard Bdon tou £y, Snhad, urdpyouv oradegéc C > ¢ > 0 tétotec (hote
yx xe k € N xo ay,....ap € R éyouue czgzl lag] < | Zizlanyﬂ}l < C'Z:”;:I [ |.
Trovétoupe, emmhéov. Ot [|Tn —ynll € § i xdden € N. Acife énio Yeauuxode Teheotic
T': span{zy : n € N} — span{y, : n € N} =ou ogilevat ye

k k
T( Z ”nmn) = Z Tnln-
n=1 n=1
sxextelveta ot yeuuuxd wopoppopud T Span{z, : n € N} — span{y, : n € N}

_— i , e : . :
B.3. 'Eotww X ydgoc Banach, o éo7w (2,) wcorouiiz oty Sx. Tmovézouus d7 To
7 ¥ ef A4 AVEE ST —0. 3 e it . :
ovoro {3, : n € N} elvan ygopud aveZdptnro, wan dm % 0. Eovw, exiong. {yn) wxo-
houdia oy Sx 1 omola elvat 16oddvayr, pe v standard Bdon tou £; (Bec B.2.). Aclfze én
liminf ||z, — yu|| > 0.
n—=r+00
B.4. Eotw (fn) wohowdiz gwov L ([0. 1)). “Eo=w, exlone, () n werovdiz Rademacher.

ftx x3e n & N ogifovye gn: (0,12 = R ue go(t1, 1) = Ta(t1) - fa(ta). Aciize 67 i
xdle 1 < p < 400 urdpyer xadohu, owadepd e(p) > 0 wéow dote v wdde k € N Eyoupe

43 k
{ Z-q" 0.2y 2 €(P) IH( Z £a) !/QHLI,{[(L_L;)‘
n=1 n=1

Mzogeite va exmynoete ) otadepd c(p)?

KAAH EITITYXIA!



